LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

siiga
il 2]

Lo Lia) slgall zramg Cigial] graxd Jac Gl sl (e Jguamll¥

https://almanahj.com/ae

Lie L) pladl aladl Casall alge guaxd Jac Glsl (sle Jguamdd *
https://almanahj.com/ae/10
Lis Lia), gl guaxdy culialy; 8ale (48 pladl yalall Caadl Gl sl guax (e Jguamld *

https://almanahj.com/ae/10

Lis biol o Lol il 85l (4 pla) psladl Caad) alge zuaxd oo Gl gl (e Jguamedd *
https://almanahj.com/ae/10
Lo bzl pld) alad) Caall U Jguail] e (48 algall gnaz> S Jramil *
https://almanahj.com/ae/grade10
Lo bao) iplali (de maliadl cog () chasill

https://t.me/almanahj_bot



https://almanahj.com/ae
https://almanahj.com/ae
https://almanahj.com/ae/10
https://almanahj.com/ae/10
https://almanahj.com/ae/10
https://almanahj.com/ae/10
https://almanahj.com/ae/10
https://almanahj.com/ae/10
https://almanahj.com/ae/grade10
https://almanahj.com/ae/grade10
https://t.me/almanahj_bot
https://t.me/almanahj_bot
http://www.tcpdf.org

https://t.me/mathbookl DGEN https://t.me/alllaaam82

e a.AL\.u\ :’.sh..a' A / Aal) d";

:)50 2509447 = Alall JElal) (S g - 05 5L

— Lesson 7-1 | Geometric Mean _
:?'“‘y‘ gu.ﬁ.gi\ bagll 741 ) cal) Jae Z@JJ

D9 (o Ladall gL cag A g 31 adld Eullia £ 3a0 (o e Gadali Jilua Ja 22 Cpdis (o (orutig) Jangl) alag) -1 NSRS

b s 8 caonall iyl dawell uwlo¥| pogiel] e |
.%:%@x;m|ﬂbgaoﬁywmwm|@m £ )
Vab=x, ba= x? .
6 =VI*xX4 (¥ . 6s0a =4 b=9 40 JU Suwsyl) Loyl Jte
1 4 Jasd)
c sl @l Clie g ) Kies L2le ) Ligws, )3)
gLa’z’l il cpline oMSand) Gllidd) yaSewd

dnglJl Apld cabiliel) wacgd) dawgdl cubdan b o)

C areod) fls,¥) Juazs (plad,81) wiigd) Jawedl dodas 2
oeiins cuialad ) ell aglsl) @l bl 5y )
alsl o ‘_",_..u.i...aﬁ dawgll glas ¥ 1ia Jobs galuwg

h ol oaia
A x D y B il AB sl glas,¥) Jie CD 1S 15) Jlaed!
%:%51 h= /iy ols ABCA a))) ild

elis,¥) Jas (ladl) wiigd! Jawedl ddas 3

< ouialad ) 3ad) &l ) @sle i) 55 1) ased)
b . dagl) o bl 1ia Bl Al Jolog et
5383ae)) dopriwd) dalanlly o)l Jabs Creo Guoais))
Blad) el alandd) isll le
Al‘ x D . y le
[ ]

g3l @b cliJl AB el glis ¥ oa CD LS 13) Jligd!
5:%b=\/ﬁsi %:g ols AABC

a a=/yC



http://t.me/mustafaallam
http://t.me/mustafaallam
http://t.me/mustafaallam
https://t.me/alllaaam82
https://t.me/alllaaam82
https://t.me/mathbook10GEN

e A | dhian [ uudall Jas https://t.me/mathbooklDGEN —
050-2509447 Aal) L3l oy g 0 5

Find the geometric mean between each pair of numbers. alae Y 0 T3 IS (e (g igd) Jauw g ! S

20 and 25 25 and 16 81 and 4
2= |20(28) = lo(& x = (05 (1L) = 20 x=[% (4) - [%

LSS S8 Aleied) B lilied) g g S 8l oS!

Write a similarity statement identifying the three similar triangles in the figure.

M X Y Q .
S
L Z
N 0 2
w

AMNO NN Ay AXZY | AGRS ~ PR TR
A Mo A//\I\/LO AN W;SXMAAMZ_Z__A_Q&_S_N_A_R_T_S—
/,\,/\/\‘|,I\/A/£\,/\J)Q AxZN AN NZ X AGQIYR AN RTS

Find x, y, and z. T ZgY 49X S
/ Q @
B
X 6
6
9 4 x f
N X
27 4)= 50 nFofolo| 1772 ¢(y-¢) 2> - 4 (10 - ko
* - - Ang-ppf| 289 - 9 6 N - fuo= £.3
6
xt- L4 (9)= 36y -J3c = 29 4 = \3"_ 4 (& -2y
¢
RIS =9 Yy =Ju - 49
- Y-_6) (9
= ‘3 ;rj'- 6 3 2‘2= 6 (1o) = 60
z_ - ¢)(s42)
Z _(5"\9- ) _)LL= (—:CS"\-'Z) . 2 :“{'[0'— 2.7
z:\ (syn2-¢)(sSu.2) x = le(sun =
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MODELING Khadija is hanging silver stars from

the gym ceiling using string for graduation. She
wants the ends of the strings where the stars will
be attached to be 2.2 meters from the floor. Use the
diagram to determine how long she should make

B acad Logon dsaas sl zled! plasciw!

coalyle e 13laat ) aesb ) oY) dle wanw
2.2 M gl,b psmill Ly dagsyod) dagesid) ol dal (a5 o
Jodall Hlaze wasad adasal pu ) aasawl . goe,¥) e

Jns,_.a-.J.l odods>s f))u‘

the strings.
x C"“J/""/' o ley Uy
2 g - )
- <4
XA-L" (3'1) = ’.H p4 r }:7-’ 2.2 3/
(3.1)  _ \ =[5.7Z\ w
= g \_/—_‘ )
& = = ks -5 ) 2
—— — ‘*,;' - (,LH - x /
ey olal LBy es—wiﬂx-éﬁb)l-o [
ALGEBRA Find the value of the variable. cyiligd) dgu® W L
m
w4
m+=+5
6
.
24 6
2 (-
6 = v (i +5) (LA/—I—L!) - 264 (6)
T
gé~vnz+ Sm /Lw_\.q) = (Y
mZ e 6wm —23L —o w 4 - \llLF‘-F
(M;L()(\\/m-\-é)) -0 w = FT12 -4
q w - g wo-_\C
M= | ¢ wm == ——
/ d’)éﬁ (VT
vt
g et 5
DL
ALGEBRA Find the value of the variable. . (
35. 1% _ 24t 1) 6=t x
+1 - +
// &‘: 't‘\" CT
4 24 £=1t 4
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